Risolvi le seguenti equivalenze.

87km= ......ccceeee hm
28dm = ... m
1L1Kkm = oo, hm
4,837km = ..o m
42030 CM = ..o, hm
9,3dam = ......cccecveuenn m
4803 MM = ..o dam
41hm = . km
194m = oo, mm
82m = .., dam
6,4dam = .....cccccvunnnnn m
0,154 hm = .....ccovevenee. dm
1,15hm = ..o m
2,99Cm = s mm
1791 m = e km
14dm = ... m
29km = ... hm
262CM = e m
27dam = ..o m
2,19km = ... dam
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0,2908hmM = ....ovvvvveernn dm

76M = e, dm
2,152dam = ....cccoeennnnn mm
52dam = ... m
371.2dm = . dam
55m = ., dam
28hm = ................... dam
0,179dam = ......cceeeenen. m
84dm = ... cm
1,53hm = ... km
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Soluzioni

8,7km = 87 hm
28dm = 2,8m
1,1km = 11 hm

4,837 km = 4837 m

42030 cm = 4,203 hm

9,3dam = 93 m

4803 mm = 00,4803 dam

41 hm = 4,1 km
1,94 m = 1940 mm
82m = 8,2dam
6,4 dam = 64 m
0,154 hm = 154 dm
1,15hm = 115m
2,99 cm = 29,9 mm
1791 m = 1,791 km
14dm =14m
2,9km = 29 hm
262cm = 2,62 m
2,7dam = 27 m

2,19 km = 219 dam

0,2908 hm = 290,8 dm
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7,6 m = 76 dm

2,152 dam = 21520 mm
52dam = 52m
371,2dm = 3,712 dam
55m = 5,5dam

2,8 hm = 28 dam
0,179dam = 1,79 m
8,4dm = 84 cm

1,53 hm = 0,153 km
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